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1. Write a note on iÜFP¶Fj or iæF_̧ Fj according to išÎ¼XÛF§FÞUj— 3 

2. Define and illustrate any two of the following metres: 2  3 
 

 æFkèFõ»FPæFáFÛFh, æFõFÎ¶FP¶FáF=+ÛFh, ÛFFPáFÎFU— 

3. Scan and name the metres in any two of the following: 2  3  
 =+) ÒæF¶Fa¶FFk Ò=_+P¶FPù¶FFÜF ÑFFP»FaæF:— 

 &F) EPÚF¡FÎFæF¶FX ÚF¶F]a: éãFfÜFWW Põ»F¶FF ;F_PùµFUÑF¼W— 

 ;F) ÎFUæFFÞF: èF]=+;FÚFaa=+X©ÞÛF]&FÚFeñFõ¶FàµFFÛFÍF:— 

4. Translate into Sanskrit (in Devanāgarī script) any one of the following: 1  10 

 „þV {Ù»îû‰þw !î”Äy¢y†îû ö›!”˜#þ™%îû ö‹œyîû î#îû!¢‚£ @ùÌyöì› ~„þ ”!îûo îÊyáþ’ þ™!îûîyöìîû ‹§Ã@ùÌ£’ „þöìîû˜Ð îyœÄ„þyœ 

öíöì„þ£z !“þ!˜ !Šéöìœ˜ ö›„yî# ç „þÜT¢!£¡%ŒÐ “¤þyîû !þ™“þy !ŸÇþy”yöì˜îû ‹˜Ä “¤þyöì„þ „þœ„þy“þyëû !˜öìëû xyöì¢˜Ð xÒ 

¢›öìëûîû ›öì„Ä£z !“þ!˜ ¢yšþöìœÄîû ¢öìD !ŸÇþy ¢›y® „þöìîû˜Ð “¤þyîû ›˜ !Šéœ ¢„þœ ¢‚ßþñyîû öíöì„þ ›%_«Ð 

  Iswarchandra Vidyasagar was born in a poor Brahmin family in the village of Birsinha in 

the district of Midnapore. But he was meritorious and painstaking from his very boyhood. 

His father brought him to Calcutta to give him education. In a short time he completed his 

education with great success. His mind was free from all types of prejudices.   
 

 …V ~£z þ™,!íî#öì“þ ¢‚îy”þ™e xy„%!˜„þ ¢¦þÄ“þyîû xþ™!îû£yëÅ xDÐ ~îû ›y„Äöì› ¢›y‹îkþ ›y %̃¡ì “¤þyöì”îû £zFŠéy ¢›yöì‹ 

²Ì„þyŸ „þöìîû˜Ð ¢‚îy”þ™e þ™yöìàþîû ›y„Äöì› !î!î„ !î¡ìöìëû öœyöì„þöì”îû Kþy˜ £ëûÐ îûy‹˜#!“þîû ˜y˜y ¢›¢Äy ç 

¢›y„yöì˜îû !î¡ìëûç vþzê¢%„þ öœyöì„þîûy ¢‚îy”þ™e þ™yöìàþîû myîûy ‹y˜öì“þ þ™yöìîû̃ Ð “þy£z ¢‚îy”þ™e …%î£z ²Ìöìëûy‹˜Ð 

  Newspaper in this world is the indispensable part of modern civilization. Human beings 

living in society express their intention through it in the society. People acquire knowledge 

in different subjects by reading newspapers. Enthusiasts come to know the problems and 

solutions therein in the sphere of politics by this. So newspaper is very useful. 

 

5. Elucidate the following Kārikā in Sanskrit with examples (any one): 5 

 =+) ÎF¦F»FFa: ðF©h Ò=+UP¶Fa¶FF:— 

 &F) HÑFõF;FaWµF ÍFF¶æF»FXa ÙFáFF¼ÎÜF·F ÎFUÜF¶FW— ÒùFÞFùFÞõFkùFÞPæFùFÞÑFPÞùFÞæF¶Fh—— 

 

6. a) Account for the case-endings in any three of the underlined padas. 3  1 

  =+) ÑFèÜFP¶F ÛFPÜF ÍFÎFÛFh EÑFB¶FÛFh— 

  &F) õF æFÎFÛF]ÑFæFõFP¶F— 

  ;F) PèFèF]: ÑF*ÎFFÜF ;F˜šP¶F— 

  fF) õFF ¼]:&FF¶Fh t+Î¼P¶F— 

  ‘~) ÞFÛFWµF ÞFæFµFX ù¶F:— 
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 b) Name and expound the samasa in any three of the following: 3  1 
  EPùÎF=]+áFÛFh, PÒÜFkæF¼F, èFX=+FP;FÐ:, EÑFP¼èFÛFh, æFUµFFÑFFPµF:— 

 c) Join in sandhi any two of the following: 2  1 
  EÛFU+EíFF:, æFF=h++ùPÞ:, ÎFFÞU+E·F, ùÞW+E·F— 

 d) Disjoin in sandhi any two of the following: 2  1 
  æFõ¶FFPÚF:, õFkõ=_+¶FÛFh, õFUÛFÎ¶F:, ÞæFFæFõ¶FPÛF¶FW— 

 e) Substitute single words for any two of the following: 2  1 
  K+PðFµFF ÒX…+ÛFh, õF¶ÜFk æF¼PÎ¶F ÜFW ¶FW, õFFÍÜFÛFÎFP¶Ft+ÛÜF, ÑF]ÎF: ÑF]ÎF: ÞXP¼P¶F— 

 f) Give the resulting forms of any two of the following: 2  1 

  ùÎFh+èF¶F_, õFùh+¶F]ÛF]ÎFh, EPÍF-G‘h~+…+, èFFõFh+ƒÜFÑFh— 

 g) Write any two of the following after appropriate correction(s) if needed: 2  1 
  =+) ÞF¡FF Ò¡FFÎFh èFFõFP¶F 

  &F) EùX ÛFùFÞF£F: EÑFFÞF ÛFPùÛFF— 

  ;F) ¼P‡FµFWÎF æF_‡FæFFP©=+FÜFF: EFáFFÑF GæF êF[ÜF¶FW— 

  fF) J=+¼F ÑF[æFaPõÛFÎFh P¼PèF Ò¶Fõ»FZ õF ÞF¡FF— 

 h) Justify any two of the following: 2  1 
  =+) ÑF[P¡F¶FX ÜF: õF]ÞFõF]ÞY:— 

  &F) ÎFW¶FæÜFF æFe¡Fk ;FFæF: =_+ðµFWÎF— 

  ;F) ¶æFÛFUíFÞU ¼WPæF ˜FÞF˜FÞõÜF— 

  fF) ÛFF =]+ß ÍFÎF¡FÎFÜFZæFÎF;FæFaÛFh— 

 i) Write sentences to illustrate distinction in meaning between the words in any one of the 

following: 1  2 
  =+) õFkt+U°¶FW & õFkt+U°P¶F 

  &F) ÚFæFP¶F & ÚFæF¶FU 

 

7. Answer any one of the following questions: 1  10 

 =+) Justify the comment i¼Pµ°ÎF: ÑF¼áFFPáF¶ÜFÛFhj with special reference to iPÂ¡FXÑF=_+P¶F:j— 

 &F) i...¶F¼ÎF] PæFP¼¶FX¼Î¶FX ÛF¼UÜFæFkèFÙFÎÍF];FµF: ...j who said this and to whom? What is referred by 

iH¼Î¶F:j here? How he became the King of the nether world? 2+2+6 

 

8. Translate into Bengali or English or Hindi (any one): 1  5 
 =+) ÞF¡FÎFh, E¶FU¶FW PÎFèFFÎ¶FW ;FZÞUÑFP¶F: õæFÑFÐõFkPÎFPù¶FX PÎF½FÛF]P½¶FáFX˜FÎFk PæFÙFXÍÜF ÒõFÏFæF¼ÎF=+FPÎ¶F: ÒêFÜFFÎF¶Fk ÛFFÛFæFX˜F¶Fh - 

iÛFF¶F”~, ¼µ°=+FÞµÜFFÎ¶FÞFáF;FFPÛFÎÜFFõ¶FP©ÎÜFFõ¶FUÞÚF[ÛFZ PõFÊõFFÍÜFFÞFÍÜFÛFFÎFõÜF õ×+P©=+PáF”~õÜF 

ÑFëFF¼P½ÑFP¶F=+ÎÜFFÑF¼ÑFP’~P˜FPû¶FõÜFFèÛFÎF: õFPæFÍFW PæFÍFWÞFÎFÎFPÛFæF P=+ÛFPÑF PÙFáFk PæFÃ¶FW...j— 

 &F) i.... ÑFFPÑFòYÞÎF]ÚF[ÜFÛFFÎFÛF·F ÜFF¶FÎFFPæFèFWðFk PæFáFXƒÜF ÑF]ÎFÞPÑF ÑF[æFaèFÞUÞÛFÎFWÎF ;FÛÜF¶FFÛFhj GP¶F— P˜F·F;F]ÓFXNPÑF ¶F·F ¶F·F 

õFk¶FÓFWðæFFÜFõFõ¶FÛÚFWðF] ÙFÍÜFÛFFÎFFÎFh, E¶ÜF]ðµFU=_+¶FW PæF¶F¶FèFÞFæFW ¶FYáFW PÎFP‡FÑÜFÛFFµFFÎFh, áF;F]°Y¡Fa¡FaÞU=_+¶FFæFÜFæFFÎFh, PÎFPèF¶F©’Y~: 

ÑFPÞ¶F‡ÜFÛFFµFFÎFPÑF ¼èFaPÜF¶æFF ÑF]µÜFÙF]PÊÛF]ÑFP¼èÜF ÛFFÛFÛF]̈ F¶Fh— 

 

 

 



(3) 
 

9. Answer any one of the following questions: 1  10 

 a) What are the utilities of E»FXaÑF‡FWÑF=+ in a Sanskrit drama? Name different types of E»FXaÑF‡FWÑF=+  

admitted by Visvanatha. Define and illustrate any two of them. 3+1+6 

 b) What is ÎFFÎ¼U ? Write a critical note on ÎFFÎ¼U according to Visvanatha. 2+8 

 

10. Write explanatory notes on any two of the following: 2  5 

 ÒP¶FÛF]&FõFPÎÍF:, EF=+FèFÚFFPðF¶FÛFh, =+ZPèF=+U æF_P¸F:, Òõ¶FFæFÎFF— 

 

11. Explain any one of the following verses with reference to the context: 1  6 

 =+) èFÛFÒÍFFÎFWðF] ¶FÑFXÍFÎFWðF] ;F[³k Pù ¼FùF¶ÛF=+ÛFPõ¶F ¶FW¡F:— 

  õÑFèFFaÎF]=[+áFF GæF õF[ÜFa=+FÎ¶FFõ¶F¼ÎÜF¶FW¡FXNPÚFÚFæFFÂÛFPÎ¶F—— 

 &F) èFFÎ¶FPÛF¼ÛFFêFÛFÑF¼k õ×]+ÞP¶F ˜F ÙFFC: =]+¶F: ×+áFPÛFùFõÜF— 

  E»FæFF ÚFPæF¶FæÜFFÎFFk ÂFÞFPµF ÚFæFPÎ¶F õFæFa·F—— 

 

12. Answer any one of the following questions:  

 (i) Translate into Bengali or Hindi or English any one of the following verses:  1  6 

  =+) ¶FUæFeFfFF¶FÒP¶Fù¶F¶Fßõ=+ÎÍFáF;FÐY=+¼Î¶F: 

   ÑFF¼F=_+ñæFe¶FP¶FæFáFÜFFõF”~õF§FF¶FÑFFèF:— 

   ÛF[¶FXa PæFfFÐõ¶FÑFõF GæF ÎFX PÚFÏFõFFÞ”~ÜF[»FX 

   ÍFÛFFaÞµÜFk ÒPæFèFP¶F ;F¡F: õÜFÎ¼ÎFFáFX=+ÚFU¶F:—— 

  &F) P˜F·FW PÎFWæFèÜF ÑFPÞ=+PáÑF¶FõF¸æFÜFX;FF 

   àÑFX™FÜFWÎF ÛFÎFõFF PæFPÍFÎFF =_+¶FF ÎF]— 

   øFUÞ¹FõF_PñÞÑFÞF ÒP¶FÚFFP¶F õFF ÛFW 

   ÍFF¶F]PæFaÚF]¶æFÛFÎF]P˜FÎ¶ÜF æFÑF]ëF ¶FõÜFF:—— 

 (ii) Answer any three of the following questions: 3  2 

  a) What are the eight perceptible forms of Lord Śiva?  

  b) Who was Vaikhānasa? What did he say to Duṣyanta? 

  c) o¼[ÞU=_+¶FF: &FáF] ;F]µFYßÃFÎFáF¶FF æFÎFáF¶FFPÚF:p  - Who said this? Who were meant by HÃFÎFáF¶FF  

and æFÎFáF¶FF ? 

  d) Who is referred by the word i=+FèÜFÑF:j? 

  e) What do you know about iõFæFÎF=+ÛFaj? 

 

13. a) Disjoin the sandhis in - õF[ÜFa=+FÎ¶FFõ¶F¼ÎÜF¶FW¡FXNPÚFÚFæFFÂÛFPÎ¶F in 11(=+) 1 

 b) Name and expound the samāsa PÚFÏFõFFÞ”~ÜF[»F: in 12(i)(=+) OR  õÜFÎ¼ÎFFáFX=+ÚFU¶F: in 12(i)(=+) 2 

 
 

———— × ———— 


